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������� 	 
�����
�� ����
�� z = x + yi � x, y ∈ R�

�� ��	������ ��� �� |z|2 − (Im (z) + 1)2 + 1 = 0� ���� 	� ��
���� �	� z ��	

�����
� ������	 ����
	���� ���� �����	�� y = 1

2x2�

�� ��� �	�� 
�����
	�� ����
	�� z �	� �� ��!��
��	� �� ����	�� ���	� �	�
"#	�� 
"��	

√
8�

$� ��	������ ��� ��� 
%�� ����
� ����
���
� ����
� ρ ��%�#	�� �%��� ��	

�����
	� ����
	� z � �	� �
��	�	�	�� �	 ��&��
� �� �"�	�	� &��� �� ��#���
|z| = ρ�

���� � ������� 	 
�����
�� ����
�� z = x + yi � x, y ∈ R� 
�� "��!

f (z) =
2z − iz

z − 1
z �= 1

�� ��	������ ��� f (1 − i) = 3 + 3i

�� ��	������ ��� 	 ����
�� (f (1 − i))2004 ����� ����
���
�� ����
���

$� '(��! A, B 	� ��
���� �!� 
�����
&� ����
&� f (1 − i) 
�� f (1 + i) ��	

�����
� ������	� ��	������ ��� �	 ����!�	 OAB ����� 	��	�&��	 ��	 )�
�) � ��#� �!� ����!� �

���� � �� *� ������%+��� ��!
����
% �	 ���	�	 �, �!� ��
��!� �!� 
�-
����
&� ����
&� z �	� �
��	�	�	�� ��� �#"����. |z| = 3 
�� Im (z) ≥ 0�

�� *� ��	������ ��� �� � ��
��� �	� 
�����
	� ����
	� z ���
�� ��	 ���	�	
�, ���� � ��
��� �	� 
�����
	� ����
	�

ω=
1
2

(
z +

9
z

)
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	 �
�
� �	 	�	�	 ����
���� ��	� %�	�� x′x�

���� � ������� � ���%�����

f (x) =

{
x

1+e
1
x

, x �= 0

α + 1, x = 0

�� *� ������ 	 ����
���
�� ����
�� α &��� � f �� ����� ����#�� ��	 x0 = 0�

�� *� ������ �	 lim
x→−∞ f (x)

$� ��	������ ��� � ����!��

(f (x))2005 = κ

"#�� 
�� �	��%#���	� ��/� ��� 
%�� κ ∈ R�

���� � ������� � ����#�� ���%����� f : R → R ��� ��� 	�	�� ��#�	��.

f (f (x)) − f (x) = 3 
�� f (1) = 4
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�

�� *� ��	�	������ �	 ���	.

lim
x→−∞

f (1) · x3 + 2x − 1
f (4) · x2 − x + 2

�� �� lim
x→5

f (x) = 8� ��	������ ��� � Cf ��"�#���� ��� �	 ��
��	 
� �����
"��

0�

$� 1�!�	�
� �� ���%�����

g (x) = x · f (x) − 30 · συν (πx)

��	������ ��� � Cg �"
��� �	� %�	�� x′x �� "�� �	��%#���	� ��
��	 
�
���
�
"�� ��	 ��%���
� (4, 7)�

2� ��	������ ��� ��%�#�� x0 ∈ (1, 7) � �"�	�	 &��� �� ��#���

10 · f (x0) = 2 · f (2) + 3 · f (3) + 5 · f (5)

���� � ������� � ���%����� f 	���
"�� ��	 R 
� ����#� ��&�� ���%�!�	�
��� ��� 	�	�� ��#�	�� 	� �#"����. f (x) = −f (2 − x) 
�� f ′ (x) �= 0 ��� 
%��
x ∈ R�

�� *� ��	������� ��� � f ����� �����!� 
	���	��

�� *� ��	������� ��� � ����!�� f (x) = 0 "#�� 
	����
� ��/��

$� '(��! � ���%�����

g (x) =
f (x)
f ′ (x)

*� ��	������� ��� � �3���	
"�� ��� ���3�
�� ���%������ ��� g ��	 ��
��	
��	 	�	�	 ���� �"
��� �	� %�	�� x′x � �#�
���/�� 
� ����� �!��� 45◦ �

��
�� �����

���� � '(��! � ����#�� ���%����� f : (0, 5) → R ��� ��� 	�	�� ��#���.

f2 (x) + x2 = 5x + 12

�� ��4 ��	������ ��� � ����!�� f (x) = 0 ����� ������� ��	 ��%���
� (0, 5)�

��4 ��	������ ��� � f "#�� ������� �����
	 ��	 (0, 5) �

�� 1�!�	�
� ��� � f ����� �����!����
� ���%����� 
�� � Cf ��"�#���� ��� �	
��
��	 N

(
2, 3

√
2
)
�

��4 *� ������ ��� ����!�� �3���	
"��� ��� Cf ��	 ��
��	 � � � � A (1, f (1)) �

��4 '(�� 
����� M(x, y) � 
� x ≥ 1 ��
��% ��� �	 ��
��	 A 
�� 
�������
�%�! ���� ������ y = 3

8x + 29
8 � 
� ��#����� 2m/sec � *� ������ 	

���
�� 
����	��� ��� ���
�
"��� �	� M � �� #�	��
� ����
� �	� ����
����% ��� �	 ��
��	 5 �P

(
11
3 , 5

)
 �

���� � ������� � ���%����� f (x) = ln
(

1−x
1+x

)
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�� *� ������ �	 ����	 	���
	� ����

�� ��	������ ���

f−1 (x) =
1 − ex

1 + ex
, x ∈ R

$� ��	������ ��� � ����!�� f−1 (x)+ 1
x = 0� "#�� 
�� �	��%#���	� ��/� ��	 R�

���� 	 ������� � �����!����
� ���%����� f : R → R� ��� ��� 	�	�� ��#���.

(f ◦ f) (x) = 4x − 3

��� 
%�� x ∈ R�

�� ��	������ ��� f (1) = 1�

�� *� ������ � ����!�� �3���	
"��� ��� Cf ��	 ��
��	 ��� A (1, f (1))� ��
��!��/	�
� ��� ���� �#�
���/�� 
� �	� %�	�� x′x 	���� �!����

$� ��

lim
x→1/2

f (x)
ημ (2x − 1)

= 1


��

lim
x→1/2

(
2x3 − x2 + 2x − 1

) · g (x) =
5
4

�� ������ �	
lim

x→1/2
(f (x) · g (x))

��������� 2) y = 2x − 1 � 3)  !

���� �
 ������� � ���%����� f � 	���
"�� 
�� �����!����
� ��	 [1, 4] ���
��� 	�	�� ��#�	�� f (x) �= 0, f (1) > 0 
�� f ′ (x) �= 1 ��� 
%�� x ∈ [1, 4]�

�� ��	������ ��� f (x) > 0 ���� 
%�� x ∈ [1, 4]�

�� 1�!�	�
� �� ���%�����

g (x) = f2 (x) − f (1) · f (4)

��	������ ��� ��%�#�� x0 ∈ [1, 4] �"�	�	 &��� g (x0) = 0�

$� 1�!�	�
� ��� � ��
��� ���� 
�����
	� ����
	� z 
������� ��� Cf � ��	������
��� ��%�#�� �	 �	�� "�� ��
��	 ��� Cf ��	 	�	�	 � ������
���
� �
���� �	�
z ��	 
�����
� ������	 � �#�
���/�� 
� �	� %�	�� x′x �!��� 45◦ �

���� �� '(��! � ���%�����

f (x) =

⎧⎨
⎩

a2x2 + βx − 12, x < 1
5, x = 1
ax + β, x > 1

��	� α, β ∈ R

�� *� ����	�� 	� ��
"� �!� α, β &��� � f �� ����� ����#�� ��	 x0 = 1�
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2 ����������	
 ��
��� ����������� ���������� 	 
����
�

�� 6� ���	
"�	 ��� � f ����� ����#�� 
�� lim
x→+∞ f (x) = −∞ .

��4 *� ������ � ���%����� h (x) = f (x) + g (x) , ��	� g (x) = ln (x − 1)�

��4 ��	������ ��� � Ch �"
��� �	� %�	�� x′x �� "�� �	��%#���	� ��
��	�

��4 ��	������ ��� � ���%����� Φ (x) = (f (x))2005 
�� � ������ y = κ�
κ ∈ R "#	�� "�� �	��%#���	� 
	��� ��
��	 ��� 
%�� κ �

���� �� ������� ���%����� f �����!����
� ��	 R 
� f ′ (0) = 2, ��� ���
	�	�� ��#�	�� .

f (a + x) = f (a) · f (x) · e2ax


��
f (x) �= 0

��� 
%�� x, α ∈ R�

�� ��	������ ���. f (0) = 1 
�� f ′ (x) = 2 · f (x) (x + 1) , ��� 
%�� x ∈ R�

�� ��	������ ���. 7 ���%�����

g (x) =
f (x)

ex2+2x

����� ������� ��	 R�

$� *� ������ 	 ���	� ��� f �

���� �� '(��! � ����#�� ���%����� f : [0, λ] → R �"�	�� &��� f (0) = 0

�� f (λ) = λ�

�� ������ ��� ��%�#�� ξ ∈ (0, λ) �"�	�	� &��� f (ξ) = λ − ξ�

�� �� � f ����� �����!����
� ��	 (0, λ) � ������ ��� ��%�#	�� ξ1, ξ2 ∈ (0, λ)

� 0 < ξ1 < ξ < ξ2 < λ �"�	�� &��� f ′ (ξ1) · f ′ (ξ2) = 1

���� �� ������� � ���%�����

f (x) = x3 − x2 − ln x, x > 0

�� *� 
�������� � f !� ��	� �� 
	�	�	��� 
�� �� �
�������

�� ��	������ ��� x3 ≥ x2 + lnx ��� 
%�� x > 0 �

$� *� ������ �	 ���	�	 ��
&� ��� f �

2� �� α, β, γ > 0 
�� αβγ = e2006 � ��	������ ���

α2 (α − 1) + β2 (β − 1) + γ2 (γ − 1) ≥ 2006

���������  ! 
�"��#�� �� f (1) = 0! �! ������ ���$� [0, +∞)

���� �� '(��! ����#�� ��	 R � ��� ��� 	�	�� ��#���.

f (x + y) = f (x) + f (y) , x, y ∈ R

��	������ ���.
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�� 7 f ����� �������

��
∫ β

a f (x)dx =
∫ β

a f (a + β − x)dx

$�
∫ β

a
f (x)dx = f (a + β) ·

(
β−a

2

)
�

���� �� 1�!�	�
� �� ���%�����

f (x) = x2 + lnx, x > 0

�� ��	������ ���. 7 f ����� �����!� ���	��� ��	 (0, +∞)�

�� ��	������ ���.

e − 1 ≤
∫ e

1

f (x) dx ≤ (e − 1)
(
e2 + 1

)

$� *� ��	�	������ �	 	�	
���!
�
∫

ef(x)dx�

���� �� ������� � ���%�����

f (x) =
{

x · ln 1
|x| , x �= 0

0, x = 0

�� ��	������ ��� � f ����� ����#�� ��	 x0 = 0�

�� *� ����%���� �� � f ����� �����!����
� ��	 x0 = 0�

$� *� ������ �	 �
����� E (λ) �	� #!��	� �	� ����
������� ��� �� Cf 
�� ���
������� x = 1 
�� x = λ � λ > 0 �

2� *� ������ �	 lim
λ→0+

E (λ) �

���� �� 1�!�	�
� �� ���%�����

f (x) =
2x

x2 + 1

'(��! ���%����� g : R → R ��� ��� 	�	�� ��#���.

|g (x) + x − 2| ≤ |f (x)|

�� *� ��	������� ��� ��� � ������ y = −x + 2 ����� ��%��� ���
��!�� ��� Cg

��	 +∞�

�� *� ��	�	������ �	 �
����� �	� ����
������� ��� �� Cf �	� %�	�� x′x 
��
��� ������ x = 1�

$� *� ��	������� ��� ∫ 2

0

|g (x)| dx ≤ ln 5 + 2
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0 ����������	
 ��
��� ����������� ���������� 	 
����
�

���� �	 ������� 	 
�����
�� ����
�� z = a + βi� 
�� � ����#�� ���%�����
f : R → R ��� ��� 	�	�� ��#��� f (0) = 2. 1�!�	�
� �� ���%�����

g (x) = |z − 5i|x2 − 2x −
∫ 0

x

|z + 3i| · f (t) dt

��� ��� 	�	�� ��#��� g (x) ≥ 0 ��� 
%�� x ∈ R�

�� ��	������ ��� � ��
��� �	� z ��	 
�����
� ������	� 
������� �� 
�
�	 
�

"���	 K (0,−3) 
�� �
���� ρ = 1�

�� *� ������ 	 
�����
�� z 
� �	 
��������	 
�� �	 
�
�����	 
"��	�

$� *� ������ � 
"����� 
�� � ��%#���� ��
� ��� ���%������ |z + 2|�

���� �
 1�!�	�
� �	 
�����
� ����
� z = a + βi� 
�� �� ����#� ���%�����
f : R → R 
� ���	

f (x) =
∫ x2+1

1

|t · z + z| dt − 3x + 2

�� � f ���	���%/�� �
�����	 ��	 ��
��	 x0 = 1� ��	������ ��� .

�� |z| = 1
2

�� )� ��
���� �	� 
�����
	� ����
	� w = 2z−i � ��	 
�����
� ������	 
��	�����
�� 
�
�	 
� 
"���	 K(0,−1) 
�� �
���� ρ = 1�

$� *� ��	�	������ �	 �
����� �	� #!��	� �	� ����
������� ��� ��� Cf � �	�
%�	�� x′x 
�� ��� ������� x = 0 
�� x = 1�

��������� �! E = 53
60 �! ���!

���� �� ������� � ����#�� ���%����� f 
� ����	 	���
	� �	 ��%���
� (0, +∞)�
��� ��� 	�	�� ��#���.

f (x) = x2 − 1 +
1

x + 1

∫ x

1

f (t) dt, x ∈ (0, +∞)

�� ��	������ ��� f (1) = 0

�� ��	������ ��� f ′ (x) = 3x − 1�

$� *� ������ �	� ���	 ��� f �

2� *� ��	�	������ �	 �
����� �	� #!��	� �	� ����
������� ��� �� ���3�
�
���%����� ��� f (x) � �	� %�	�� x′x 
�� ��� ������� x = 2 
�� x = 4�

���� �� '(��! � �����!����
� ���%����� f : (0, +∞) → R ��� ��� 	�	��
��#�	�� .

f (1) = 0 
�� x · f ′ (x) − 2 · f (x) = x� ��� 
%�� x ∈ (0, +∞)�
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�� ��	������ ��� � ���%�����

h (x) =
f (x)
x2

����� �����!� ���	��� ��	 (0, +∞)�

�� *� ������ �	� ���	 ��� f �

$� *� ��	�	������ �	

lim
x→1

∫ x

1
f (t) dt

(ln x)2

���� �� ������� � ���%����� f (x) =
√

x2 + 1 − x�

�� ��	������ ��� lim
x→+∞ f (x) = 0�

�� *� ������ ��� ��%��� ���
��!�� ��� Cf ���� �	 x → −∞�

$� ��	������ ���

f ′ (x) ·
√

x2 + 1 + f (x) = 0

2� ��	������ ��� ∫ 1

0

1√
x2 + 1

dx = ln
(√

2 + 1
)

���� �� 1�!�	�
� �� ���%�����

f (x) = x − ln x + ex, x ∈ (1, +∞)

�� ��	������ ��� � f ����� �����!� ���	��� ��	 ��%���
� (1, +∞)�

�� *� ��	�	������ �	 ���	 lim
x→+∞ f (x)�

$� ��	������ ��� � ����!�� f (x) = 2005 "#�� 
	����
� ���� ��	 ��%���
�
(1, +∞)�

2� '(��!

Π =
∫ e

2

f (x)dx +
∫ f(e)

f(2)

f−1 (x)dx

*� ��	�	������ ��� ��
� ��� ���%������ Π − 2�n2�

��������� �! +∞! �! ee+1 − e − e2 − 4

���� �� ������� � ���%����� f ��	 3	�"� �����!����
� ��	 R � ��� ��� 	�	��
��	�"�	�
� ��� ��#��� f (0) = 0 
�� � f ′ ����� �����!� ���	��� ��	 ��%���
�
(0, +∞)�

�� ��	������ ��� ��� 
%�� x > 0 ��%�#�� ξ ∈ (0, x) �"�	�	 &���

f (x) = x · f ′ (ξ)

�������� 	��
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: ����������	
 ��
��� ����������� ���������� 	 
����
�

�� ��	������ ��� � ���%�����

h (x) =
f (x)

x
+ ex


� x > 0 ����� ���%����� �-� ��	 ��%���
� (0, +∞)�

$� ��
h (x) = ex + x5 + x

�� ��	�	������ �	 	�	
���!
�

I =
∫ e−1

1

f (x + 1)dx

��������� �! I = 3·e7+7·e3−440
21

���� �� 1�!�	�
� �� ���%�����

f (x) =
{

α + ex, x ≤ 0
x · ln x, x > 0


� α ∈ R�

�� *� ��	�	������ �	� α &��� � f �� ����� ����#�� ��	 x0 = 0�

�� �� α = −1

��4 *� ����%���� �� � f ����� �����!����
� ��	 x0 = 0 �

��4 *� 
��������� ��� f !� ��	� �� 
	�	�	���� �� �
������ 
�� �� ������
�	 ���	�	 ��
&� ��� f �

��4 *� ������ �	 ����	� �!� ��/&� ��� ����!��� f (x) = 0�

��4 *� ��	�	������ �	 �
����� �	� #!��	� �	� ����
������� ��� �� Cf �
�	� %�	�� x′x 
�� ��� ������� x = 1 
�� x = e�

��������� ����� 	�� ����� �! ���! �� f (0)� �! ��! �� f
� 1

e

�
� #��! ���$� (−1, +∞) ! ����� �

����� E = 1+e2
4 �! �!

���� �� '(��! 
�� ����
���
� ���%����� f � ����#�� ��	 ���	�	 �!� ����-

���
&� ����
&� R� ��� ��� 	�	�� ��#�	�� 	� �#"����.
� f (x) �= 0 � ��� 
%�� x ∈ R

� f (x) = 1 − 2 · x2
∫ 1

0
t · f2 (x · t) dt � ��� 
%�� x ∈ R�

'(��! �
�
� g � ���%����� �	� 	��/���� ��� �	� ���	 g (x) = 1
f(x) − x2, x ∈ R�

�� ��	������ ��� ��#���. f ′ (x) = −2 · x · f2 (x)�

�� *� ������� ��� � ���%����� g ����� ��������

$� ��	������ ��� 	 ���	� ��� ���%������ f ����� . f (x) = 1
1+x2 �

2� *� ��	�	������ �	 ���	 lim
x→+∞ (x · f (x) · ημ2x)

��
�� ��� �
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���������� 	 
����
� ����������	
 ��
��� ����������� ;

���� �� '(��! 
�� ����
���
� ���%����� f � ����#�� ��	 (0, +∞) ��� ���
	�	�� ��#���.

f (x) =
1
x

+
∫ x

1

t · f (t)
x2

dt x > 0

�� *� ������� ��� � f ����� �����!����
� ��	 (0, +∞)�

�� ��	������ ��� 	 ���	� ��� f �����

f (x) =
1 + lnx

x
x > 0

$� *� ������ �	 ���	�	 ��
&� ��� f �

2� *� ������ ��� ���
��!��� ��� Cf �

8� *� ��	�	������ �	 �
����� �	� #!��	� �	� ����
������� ��� �� Cf �	� %�	��
x′x 
�� ��� �������x = 1 
�� x = e�

��
�� %&'
%&� ��� �

���� �	 '(��! 	� ����������� f, g 
� ����	 	���
	� �	 R� ������� ��� �
���%����� ��� �������� f ◦ g ����� �-��

�� ��	������ ��� � g ����� �-��

�� ��	������ ��� � ����!��

g
(
f (x) + x3 − x

)
= g (f (x) + 2x − 1)

"#�� �
���&� ��	 ����
"� 
�� 
�� ������
� ��/��

$� ������� �����"	� ��� 	� f, g ����� �����!����
�� ��	 R� 
�

(f ◦ g) (0) = 0


�� ∫ g(x)

0

f (t)dt +
∫ x

0

(f ◦ g) (t) dt = 1

��� 
%�� x ∈ R�

��	������ ��� ∫ g(x)+x

0

f (t) dt = 1

��� 
%�� x ∈ R�

���� �
 �� '(��! ��	 ����������� h, g����#��� ��	 [a, β]� *� ��	�������

��� �� h (x) > g (x) ��� 
%�� x ∈ [a, β] ���� ��#���.
∫ β

a h (x)dx >
∫ β

a g (x) dx�

� ������� � �����!����
� ��	 R ���%����� f � �	� �
��	�	��� ��� �#"����.

f (x) − e−f(x) = x − 1, x ∈ R


��
f (0) = 0

�������� 	��
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�< ����������	
 ��
��� ����������� ���������� 	 
����
�

�� *� �
3������ � f ′ !� ���%����� ��� f �

�� ��	������ ���
x

2
< f (x) < x · f ′ (x) , x > 0

$� �� E ����� �	 �
����� �	� #!��	� Ω �	� 	��/���� ��� �� Cf � ��� �������
x = 0� x = 1 
�� �	� %�	�� x′x � ��	������ ���

1
4

< E <
1
2
f (1)

��
�� �����

���� �� '(��! 
�� ���%����� f � ��	 3	�"� �����!����
� ��	 [0, +∞)� ���
��� 	�	�� ��#�	�� f ′′ (x) > 0 ��� 
%�� x > 0 
�� f (0) = 0 �

�� ��	������ ���. 7 ���%�����

g (x) = x · f ′ (x) − f (x)

����� �����!� ���	��� ��	 ��%���
� (0, +∞)�

�� ��	������ ���.
x · f ′ (x) − f (x) > 0

��� 
%�� x ∈ (0, +∞)

$� ��	������ ���. 7 ���%�����

h (x) =
f (x)

x

����� �����!� ���	��� ��	 ��%���
�

2� �� x > 0 � �� ����� � ����!��(
x2 + 4

) · f (5x) < 5x · f (x2 + 4
)

���� �� '(��! � ���%����� f (x) = x3 +αx2 +βx+γ� α, β, γ, δ ∈ R� � 	�	��
"#�� ����� ��/�� ρ1 < ρ2 < ρ3 ��	 R �

��	������ ��� .

�� α2 > 3β

�� 7 f ���	���%/�� ��	 �
������ ���3	����
	� ���	���

$�
f ′(x)
f(x) = 1

x−ρ1
+ 1

x−ρ2
+ 1

x−ρ3

2� �� x0 �"�� �	��
	� �
�����	� ��� f � ���� ��#��� .

1
x0 − ρ1

+
1

x0 − ρ2
+

1
x0 − ρ3

= 0

���� �� ������� � ���%����� f (x) = e2x + x5�

����������	 
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���������� 	 
����
� ����������	
 ��
��� ����������� ��

�� *� 
�������� � f !� ��	� �� 
	�	�	��� �

�� *� ����� � ����!��

e2(x2−x) − e2(6−2x) = (6 − 2x)5 − (x2 − x
)5

$� 1�!�	�
� �� ���%�����

g (x) = x (x − 2) · ef(x)

��	������ ��� ��%�#�� x0 ∈ (0, 2) �"�	�	 &���

f ′ (x0) =
2 (1 − x0)
x0 (x0 − 2)

��������� �! x = −3 � x = 2

���� �� '(��! � ���%����� f : [1, 3] → R �	� ����� � 3	�"� �����!����
�

�� ��#���. f (1) = f (3) = 2� 1�!�	�
� �� ���%����� g : R → R 
� ���	

g (x) =
(
x2 − 4x + 3

) · f (2)

� ���3�
� ���%����� ��� 	�	��� ��"�#���� ��� �	 ��
��	 A(2,−1)�

�� *� 
�������� � g !� ��	� �� 
	�	�	���� �� �
������ 
�� �� ������ �	 ���	�	
��
&� ����

�� ��	������ ��� ��%�#	�� ξ1,ξ2 ∈ (1, 3)� 
� ξ1 �= ξ2 &��� �� ��#���.

f ′ (ξ1) = g′ (ξ1) f ′ (ξ2) = g′ (ξ2)

$� ��	������ ��� ��%�#�� ξ ∈ (1, 3) �"�	�	 &��� �� ��#���. f ′′ (ξ) = 2�

���� �� ������� � ���%����� f : R → R ��	 3	�"� �����!����
� ��� ���
	�	�� ��#���.

2 · f (x3
) ≥ f2 (x) + 1

��� 
%�� x ∈ R

�� ��	������ ��� � Cf ��"�#���� ��� �� ��
���. A(1, 1), B(−1, 1) 
�� Γ(0, 1)�

�� ��	������ ��� ��%�#�� "�� �	��%#���	� ��
��	 ��� Cf 
� ���
�
"�� ��	
��%���
� (−1, 0) � ��	 	�	�	 � Cf "#�� 	��/����� �3���	
"���

$� ��	������ ��� ��%�#�� "�� �	��%#���	� ��
��	 �	� 
�����/���� � f ′′�

2� 1�!�	�
� �� ���%�����

g (x) = x · ex + f (x)

��	������ ��� ��%�#�� "�� �	��%#���	� ��
��	 ��� Cg 
� ���
�
"�� ��	
(0, 1) &��� � �3����
��� ��� Cg �' ���� �� ����� 
%���� ���� ������ (ε) :
x + ey − e2 = 0

���� �� ������� ���%����� f ��	 3	�"� �����!����
� ��	 [1, e] 
� f (1) =
2, f (e) = e + 1 
�� ���	�	 ��
&� �	 [−1, 4]� ��	������ ���.
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�� ����������	
 ��
��� ����������� ���������� 	 
����
�

�� =�%�#	�� �	��%#���	� ��	 ��
"� x1, x2 ∈ (1, e) , x1 �= x2 &��� f ′ (x1) =
f ′ (x2) = 0�

�� =�%�#�� �	��%#���	� "�� ξ ∈ (1, e) �"�	�	 &��� f ′′ (ξ) = 0�

$� =�%�#�� �	��%#���	� "�� x0 ∈ (1, e) �"�	�	 &���

f (x0)
[
f ′ (x0) − 4f4 (x0)

]
= x0

2� 7 ������ y = −x+e+2 �"
��� �� Cf �� "�� �	��%#���	� ��
��	 
� ���
�
"��
��	 ��%���
� (1, e)�

8� =�%�#	�� ξ1, ξ2 ∈ (1, e) , (ξ1 �= ξ2) �"�	�	� &��� �� ��#���.

f ′ (ξ1) · f ′ (ξ2) = 1

��
�� �(	 
!�!
�

���� �� ������� � ���%�����

f (x) = α · ln x − x − 2


� x > 0 � α > 0�

�� ��	������ ��� lim
x→0+

f (x) = −∞ 
�� lim
x→+∞ f (x) = −∞

�� *� 
��������� ��� f !� ��	� �� 
	�	�	��� 
�� �� ��	������� ��� � 
"�����
��
� ��� ���%������ ����� � f (a)�

$� �� α = 1 ��	������ ���.

��4 7 
"����� ��
� ��� f ������� ��%#�����

��4 =�%�#�� ξ ∈ (1, e) �"�	�	 &���

f ′ (ξ) =
2 − e

e − 1

���� �� ������� � ���%�����

f (x) = x · e−x2
2

�� *� 
�������� !� ��	� �� 
	�	�	��� 
�� �� �
�������

�� *� ������ �� ��
��� 
�
��� ��� Cf �

$� ��	������ ��� 	 %�	��� x′x ����� 	��/����� ���
��!�� ��� Cf �

��������� 	
 ��(! ����! #�� x1 = −1� ��(! ���! #�� x2 = 1 �
 #�� ! ���(! #�� −√
3, 0,

√
3 �

���� �	 1�!�	�
� �� ���%�����

f (x) =
(a − 1) · x + 6

x + β
, x ∈ (−1, +∞)


� α, β ∈ R � � 	�	�� "#�� ���
��!��� ��� ������� y = 2 
�� x = −1 �

����������	 
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���������� 	 
����
� ����������	
 ��
��� ����������� �$

�� ��	������ ��� 	 ���	� ��� f �����

f (x) =
2x + 6
x + 1

, x > −1.

�� �� ��� �	� ����
� ����
� κ ��#���.

f
(
k4010

)
< f

(
k2005

)
�� ��	���	������ �	 ���	�	 �!� ��
&� �	� κ�

$� *� ������ ���%����� g (x) ��� ��� 	�	�� ��#�	��.

��4 g′ (x) = f (x) ��� 
%�� x > −1 
��

��4 7 Cg ��"�#���� ��� �	 ��
��	 M(0, 2)�

2� *� 
��������� !� ��	� �� 
	�	�	��� 
�� �� �
������ �� ���%�����

h (x) =
g (x)
x + 1

x > −1

���� �
 ���	���� 	� �����!����
�� ��	 R ����������� f, g ��� ��� 	�	���
��#���.

x∫
1

f (t)dt +

1∫
x

g (t)dt = x2 − 2x + 1

��� 
%�� x ∈ R� '(��! ��� � ����!�� f (x) = 0 "#�� ��	 ������ ρ1 < 1 < ρ2 �

�� ��	������ ���.

��4 7 ����!�� g (x) = 0 "#�� �	��%#���	� 
�� ���� ��	 ��%���
� (ρ1, ρ2)�

��4 =�%�#�� "�� �	��%#���	� ξ ∈ (ρ1, ρ2) �"�	�	 &��� g′ (ξ) = −2

�� �� � ���%����� g ����� 
���� ��	 R � ��	������ ���.

��4 7 ���%����� f ����� 
���� ��	 R�

��4 7 f "#�� "�� 
��	 ��%#���	 ��	 R� �	 	�	�	 ���	���%/���� ��	 ��
��	
ξ �	� ��!��
��	� � ��' �

$� *� ��	�	������ �	 �
����� �	� #!��	� �	� ����
������� ��� ��� Cf , Cg 
��
�	� %�	�� y′y�

���� �� 1�!�	�
� �� ���%����� f � � 	�	�� ����� ��	 3	�"� �����!����
�
��	 R ��� ��� 	�	�� ��#���.

x3∫
x

f (t) dt ≤ x3 − x

��� 
%�� x ∈ R�

�� ��	������ ���. f(−1) = f (0) = f (1)
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�2 ����������	
 ��
��� ����������� ���������� 	 
����
�

�� ��	������ ��� ��%�#	�� ��	 �	��%#���	� ��
��� ξ1, ξ2 ∈ (−1, 1) &��� 	�
�3����
���� ��� Cf �' ���% �� ����� ���%������ ��	� %�	�� x′x�

$� ��	������ ��� ��%�#�� "�� �	��%#���	� ��
��	 ��	 ��%���
� (−1, 1) �	�

�����/���� � f ′′�

���� �� '(��! ����#�� ���%����� f : [0, 2] → R � ��	 3	�"� �����!����
�

��	 (0, 2) ��� ��� 	�	�� ��#�	��. f (1) = 1, f ′ (1) = 0 
�� (f ′ (x))2 + f (x) ·
f ′′ (x) + 1 = 0� ��� 
%�� x ∈ (0, 2)�

�� ��	������ ���.

��4 f (x) > 0 ��� 
%�� x ∈ (0, 2)
��4 ) ���	� ��� ���%������ ����� f (x) =

√
2x − x2�

�� 1�!�	�
� �	 
�����
� ����
� z� ��� �	� 	�	�	 ��#�	��. Im (z) ≥ 0 
��
|z − 1| = 1�

��4 ��	������ ��� � ��
��� �	� z 
������� ��� Cf �

��4 �� A, B ����� ��	 ��#���� ��
���� �	� z � ��	������ ��� (AB) ≤ 2�

$� *� ��	�	������ �	
∫ 2

0
f (x)dx�

���� �� '(��! ����#�� ���%����� f : R → R� &���

f (x) =
∫ x

0

√
1 + f2 (t)dt

��� 
%�� x ∈ R�

�� ��	������ ��� � f ����� ��	 3	�"� �����!����
� ��	 R 
�� ��	������ ���
f ′′ (x) = f (x) .

�� ���	���� 	� ����������� .

Φ (x) = (f (x) + f ′ (x)) e−x 
�� h (x) = (f (x) − f ′ (x)) ex

��	������ ��� 	� Φ 
�� h ����� ������"� ��	 R 
�� �� ������ �	�� ���	��
�	���

$� ��	������ ��� 	 ���	� ��� f �����

f (x) =
ex − e−x

2

2� '(�� 
����� 
������� �%�! ��� Cf � >� #�	��
� ����
� t0 > 0 �	� ��"�#����
��� �	 ��
��	 A (1, f (1)) � ���
�
"�� �	� 
��&����� 
� ���
� 8 
	�%���
/sec� *� ������ �	 ���
� 
����	��� ��� �����
"��� �	� 
����	� �� #�	��
�
����
� �

��������� �
 y′ (t0) = − 5e2+5
2e ���)#���

���� �� '(��! � �����!����
� ���%����� f : R → R 
�

f3 (x) + 2f (x) + 1 = 8x3 + 4x + 1

��� 
%�� x ∈ R

����������	 
�����
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���������� 	 
����
� ����������	
 ��
��� ����������� �8

�� ������ ��� f ����� �����!� ���	��� ��	 R�

�� ������ ��� ��%�#�� 
	����
� x0 ∈ R �"�	�	 &��� f (x0) = 0�

���� �� ���	���� 	� ����
���
"� ����������� f 
�� g 
�

f ′ (x) = g′ (x) + 2


�� 
�� f ′ (x) �= 2 ��� 
%�� x ∈ R� ������� �
�
� ��� 	� ������� y = 2x + 5 
��
y = −5 ����� ���
��!��� �!� Cf 
�� Cg ������	�#� ��� x → +∞

�� *� ������ �	 ���	

� = lim
x→+∞

g(x) + 5
f(x) − 2x − 5

�� *� ������� ��� � ����!�� g(x) = 0 "#�� �	 �	�� 
�� ��/� ��	 R

$� *� ������� ��� f(x) = g(x) + 2x + 10

2� �� g (x) = e−x − 5 �� ������ �	 	�	
���!
�

A =
∫

f (x) exdx

���� �� ������� � ���%�����

g (x) =
∫ x

0

2
α + et

dt, α > 0


�� 	 
�����
�� ����
�� z = g(x) + xi� x ∈ R 
�

|z̄ + i| ≤ |z − 1|

�� *� ��	������� ���

��4 7 g �������"3�����

��4 )� ��
���� �!� z ����
	���� ���� Cg−1

�� *� ��	������� ���.

��4 Rez ≤ Imz ��� 
%�� x ∈ R�

��4 α = 1�

��4 1
1+e2 < 1

2g (2) < 1
2g (1) + 1

1+e �

���� �� '(��!f : R → R ����#�� 
��

F (x) =
∫ x+3

x2−x

f(t)dt, x ∈ R

��� ��� 	�	�� ��#��� F (x) ≤ x2 − 2x − 3 ��� 
%�� x ∈ R

�� *� ������ � F ′�

�� ������ ��� ��%�#�� ξ ∈ (2, 6) �"�	�	 &���f ′ (ξ) = 0�

�������� 	��
����

����
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�������

���� ������������

����������	 
�����

���������� ������ �������

http://lyk-evsch-n-smyrn.att.sch.gr



�0 ����������	
 ��
��� ����������� ���������� 	 
����
�

���� �� ������� � ���%����� f 
�

f (x) = (7 + x)
1
2 + (11 − x)

1
2

�� *� ������ �	 ����	 	���
	� ����

�� *� ����	�� �� �
������ ��� f �

$� *� ������ �	 ���	�	 ��
&� ��� f �

���� �	 ������� � ���%�����f : R → R ��� ��� 	�	�� ��#�	�� f (0) = 1
2 
��

f(x + y) = f(x)f(α − y) + f(y)f(α − x)

��� ��� �� x, y ∈ R ��	� α ��������� *� ������� ���.

�� f(α) = 1
2 �

�� f(x) = f(α − x) = f(α + x) ��� ��� �� x, y ∈ R�

$� f(x) = f(−x) ��� ��� �� x, y ∈ R�

2� f(x) �= 0 ��� ��� �� x, y ∈ R�

8� f(x + y) = 2f(x)f(y ��� ��� �� x, y ∈ R�

0� f(x) = 1
2��� ��� �� x, y ∈ R�

���� �
 ������� � ���%����� f 
�

f (x) =
4ex

ex + 1

�� *� ������� ��� �������"3���� 
�� �� ������ � �������	3� ����

�� *� ����	�� �� ���� ��� ��� x → +∞ 
�� ��� x → −∞�

$� *� 
�������� !� ��	� ��� 
��������

���� �� ������� � ���%����� f 
�

f (x) = 2x ln x + 2ex − 2, x > 0

�� *� ������ � �3���	
"�� �� ��� Cf ��	 ��
��	 
� ���
�
"�� x0 = 1�

�� *� 
�������� !� ��	� �� 
	�	�	��� 
�� 
��������

$� *� ������� ��� � ����!�� f ′ (x) = 0 "#�� 
	����
� ��/� ��	 (0, +∞)�

2� *� ������� ��� � ��%#���� ��
� ��� ����� ������
�� ����
���

8� *� ������ �	 �
����� �	� #!��	� �	� ����
������� ��� ��� Cf ��� �3���	-

"�� �� 
�� ��� ������� x = 1 
�� x = e�

���� �� ������� � ���%����� f 
� f(x) = lnx + x − 2

�� *� 
�������� !� ��	� ��� 
	�	�	���

����������	 
�����
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���������� 	 
����
� ����������	
 ��
��� ����������� �9

�� *� ����� � ����!��

ln
(
x2 + 9x + 18

)
= ln

(
x4 + x2 + 18

)− (9x − x4
)

���� �� ������� � ���%����� f 
� f(x) = x3 + x − 1

�� ������ ��� ����� �����!� ���	����

�� ������ ��� ����� �-��

$� *� ����� � ����!�� f(x) = f−1 (x)�

2� 6� ���	
"�	 ��� � f−1 ����� ����#�� �� ������ �	 	�	
���!
�
∫

f−1 (x) dx�

���� �� '(��! � ���%�����

f (x) =
x√

x2 − αx + β

�� ?	�� �#"�� ��"��� �� �
��	�	�	�� �� α, β &��� �� ����� Df = R@

�� A�� �	�� ��
� �	� α ��#��� lim
x→+∞

(
(f (x) − 1)

√
x2 − αx + β

)
= 1

2 @

$� A�� �	 α �	� ��	��	�
"�	� ��!��
��	� �� ������ ��� �	�� ��
� �	� β � f
���	���%/�� �
�����	 ��	 x0 = 2√

3
�

��������� 	
 α2 < 4β �
 α = 1 �
 β =
√

3
3

���� �� '(��! f, g ��	 ����#��� ����������� 
� ����	 	���
	� �	 ��%���
�
[α, β]�

�� *� ��	������� ��� �� ��� ��� �� x ��#���

f (x) < g (x)

���� �� ��%�#�� ����
�� ����
�� c "��� &��� ��� ��� �� x �� ��#���

f (x) + c < g (x)

�� *� ��	������� ��� �� 	� f, g "#	�� ��� ���� 
"����� ��
� ���� �� ��%�#��
"�� �	��%#���	� x0 ∈ [α, β] "��� &��� f (x0) = g (x0)�

���� �� '(��! f, g ��	 ����#��� ����������� 	���
"��� ��	 ��%���
� Δ �"-
�	��� &��� �� ��#��� f (x) �= g (x) ��� 
%�� x ∈ Δ

�� *� ��	������� ���
• � �� ��#��� f (x) > g (x) ��� ��� �� x
• ���� �� ��#��� f (x) < g (x) ��� ��� �� x

�� '(��! h : Δ → R ����#�� �"�	�� &��� �� ��#���

(h (x) − f (x)) (h (x) − g (x)) = 0

��� ��� �� x�

�������� 	��
����

����
���� ����
�������

���� ������������

����������	 
�����

���������� ������ �������

http://lyk-evsch-n-smyrn.att.sch.gr



�: ����������	
 ��
��� ����������� ���������� 	 
����
�

��4 *� ��	������� ��� �� � Ch �"
��� ��� Cf � Cg �� ��
��� 
� ���
�
"���
x1, x2 ����

i� x1 �= x2

ii� 7 ����!�� h (x) = f(x)+g(x)
2 "#�� 
�� �	��%#���	� ��/� ��	 ��	�-


�� ��%���
� 
� %
�� �� x1, x2�

��4 *� ��	������� ���
• � �� ��#��� h (x) = f (x) ��� ��� �� x
• ���� �� ��#��� h (x) = g (x) ��� ��� �� x

���� �� '(��! f 
�� ����#�� ���%����� 	���
"�� ��	 ��%���
� [0, +∞) �"-

�	�� &��� f (x) = x
1
x ��� 
��� x �= 0�

�� *� ������ �	 f (0)�

�� *� 
��������� !� ��	� �� 
	�	�	��� 
�� �� �
������ ��� f �

$� *� ������ ��� ���
��&�	�� ��� f �

2� *� ���
������ �	�� ����
	�� m
√

m, m+1
√

m + 1 ��	� 	 m ����� �
"���	�

��������	� �	� ��

8� *� ��	������� ��� ��%�#�� �3���	
"�� ��� Cf � 	�	�� ��"�#���� ��� �	
��
��	 M (−1, 0)�

���� �� A�� ��� ����#��� ����������� f : R → R� g : R → R ����� ��!��� ���

f2 (x) + 1 ≤ 2f (x)συνx + ημ2x

g (x) = x2 + ημ2x + 1 + f2 (x)

�� *� ������ ��� f � g�

�� *� ��	�	������ �	 �
����� �	� #!��	� �	� ����
������� ��� ��� Cf , Cg 
��
��� ������� x = −π

2 � x = π
2 �

$� *� ������ �	 ���	 lim
x→+∞

f(x)
g(x) �

���� �	 A�� �	�� 
� 
�����
	�� 
�����
	�� ����
	�� z, w ����� ��!��� ���
��#���

|z|x + |w|x ≥ 2

��� ��� �� x, y ∈ R�

�� *� ��	������� ��� � ��
��� �	� 
�����
	� ����
	� zw ���
�� ��	 
	�����	

�
�	 
� 
"���	 ��� ��#� �!� ����!��

�� =�	�"�	�
� ��� ��� �	� z ��#���

|z + 16| = 4 |z + 1|

*� ������ �	 ��!
����
� ���	 �	� w�

����������	 
�����
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���������� 	 
����
� ����������	
 ��
��� ����������� �;

���� �
 '(��! � ���%����� f : (0, +∞) → R � 	�	�� ����� �����!����
� ��	
� 
� f ′ (1) = 2006 
�� ��� ��� 	�	�� ��#���

f (xy) = xf (y) + yf (x)

��� ��� �� x, y �

�� *� ��	������� ��� � f ����� �����!����
��

�� *� ��	������� ��� f (x) = 2006 · x · ln x�

$� *� ������ ��� ��%#���� ��
� ��� f �

���� �� ,�	 �#�
� �	� �
	�	���� ��%�#�� � ���3�
� ���%����� ��� ���%�-

����� f (x) = (x − p) eqx2+sx� >� ��
��� M, N ������	�#	�� �� �"���� �
�	�%-
�!��

-1 32

Μ

Ν

�� *� ��	������� ��� f (x) = (x − 2) e−
1
6 x2

�

�� *� ������ �	 lim
x→+∞ f (x)�

$� '(��! E �	 �
����� �	� #!��	� �	� ����
������� ��� ��� Cf � �	� x′x 
��
��� ������ x = −1� *� ��	������� ���.

��4 E >
∫ 2

−1 (2 − x)
(
1 − x2

6

)
dx�

��4 E > 33
8

���� �� '(��! ���

w =
z − 2i

iz − 4
, |w| = 2

�� *� ������ �	� ��!
����
� ���	 �	� z�

�� *� ����%���� �� 
�	��� �� ��#��� w = z

$� *� ��	������� "��� �	��%#���	� ��� �	�� 
�����
	�� z 
�	��� �� �%��� ��

	�3�

z = ex + i ln x

�������� 	��
����

����
���� ����
�������

���� ������������
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�< ����������	
 ��
��� ����������� ���������� 	 
����
�

���� �� A�� ��	 ����������� f � g ����� ��!��� ���

• (���� 	���
"��� 
�� �����!����
�� ��	 R�

• f ′ (x) − g′ (x) = 1 ��� ��� �� x�

• f ′ (x) �= 1 ��� ��� �� x�

• lim
x→+∞

(
(g (x) + 2)2 + (f (x) − x − 2)2

)
= 0

�� *� ��	�	������ �	 ���	 lim
x→+∞

g(x)+2
f(x)−x−2

�� *� ������ ��� ���
��&�	�� �!� f � g ��� x → +∞�

$� *� ��	������� ��� � g "#�� �	 �	�� 
�� ��/��

2� *� ��	������� ��� f (x) − g (x) = x + 4 ��� 
%�� x�

���� �� A�� 
�� ���%����� f : R → R ����� ��!��� ��� ����� $ 3	�"� ���%-
�!����
� 
��.

• f ′′′ (x) > 0 ��� 
%�� x �= 0�

• f ′′ (0) = 0

*� ��	������� ���.

�� 7 f ���"3�� �� 
	��� %�! ��	 [0, +∞) 
�� �� 
	��� 
%�! ��	 (−∞, 0]�

�� A�� 
%�� ���%�� ����
&� α, β, γ 
� 0 < α < β ��#���

f
(
aημ2γ + βσυν2γ

) ≤ ημ2γf (a) + συν2γf (β)

���� �� '(��! f : [0, +∞) → R 
�� �����!����
� ���%����� 
� ���%�!�	
����#� 
�� �����!� ���	���� '(��! �
�
� ��� f (0) = f ′ (0) = 0�

�� *� ��	������� ��� ��� 
%�� x > 0 ��%�#�� "�� �	��%#���	� ξ ∈ (0, x) "���
&���. (

f (x)
x

)′
=

1
x

(f ′ (x) − f ′ (ξ))

�� '(��! � ���%�����

g (x) =
{

f(x)
x , x > 0

0, x = 0

��4 *� ��	������� ��� � g ����� ����#�� 
�� �����!� ���	����

��4 *� ��	������� ��� �� ��� 
�� ���%����� h : [0, +∞) → R ��#���

h
(
x2006 + x2007 + x2008

)
= g (x)

��� ��� �� x ≥ 0 ���� � h ����� �����!� ���	����

����������	 
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���������� 	 
����
� ����������	
 ��
��� ����������� ��

���� �� ������� � ���%�����

f (x) =
∫ x

2

ln t

t + 1
dt

�� *� ������ �	 ����	 	���
	� ��� f �

�� *� 
��������� ��� f !� ��	� �� 
	�	�	����

$� *� ��	������� ��� � f "#�� �
���&� "�� ��
��	 
�
����

2� '(��! � ���%�����

h (x) = (x) + f

(
1
x

)

*� ��	������� ��� h (x) = 1
2 ln2 x + c ��	� c = −2

∫ 2

1
ln t
t+1 dt�

���� �� �� '(��! � ���%�����

f (x) = xp − px, x ≥ 0

��	� 0 < p < 1�

��4 *� ��	������� ��� � f ���	���%/�� 
"����	 ��	 ��

��4 *� ��	������� ��� xp − px ≤ 1 − p ��� ��� �� x �

�� *� ��	������� ��� ��� 
%�� /���	� ����
&� ����
&� p, q 
� p + q = 1 
��

%�� /���	� ����
&� ����
���
&� ����
&� α, β ��#���

αp βq ≤ pα + qβ

���� �� '(��! � ���%�����

F (x) =
∫ ex−1+ln x+1

e

√
t2 − 3t + 2dt

�� *� ������ �	 ����	 	���
	� ��� F �

�� *� ������ ��� F ′�

$� *� ������ �� x ��� �� 	�	�� ��#��� F
(
x2 + 1

) ≤ F (2x)�

���� �	 ���	���� 	� �����������

ϕ (x) = ex, σ (x) = −x2 + (2 + e)x − 1

�� *� ��	������� ��� �	 ��
��	 A (1, e) ����� 
	��� ��
��	 �!� ���3�
&� ����-
��%��!� �!� Cϕ, Cσ

�� *� ��	������� ��� ��#��� ϕ (x) ≥ σ (x) �� �
%�� x�

$� *� ������ �	 �
����� �	� #!��	� �	� ����
������� ��� ��� Cϕ, Cσ 
�� ���
������� x = 2 
�� x = 2�

2� B����� �	 ���	 lim
x→+∞

σ(x)
ϕ(x) �

�������� 	��
����

����
���� ����
�������

���� ������������
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�� ����������	
 ��
��� ����������� ���������� 	 
����
�

���� �
 '(��! f : R → R ����#�� 
� f (1) = 2006 ��� ��� 	�	�� ��#���

f (x + y) = f (x) + f (y)

��� ��� �� x, y

�� *� ��	������� ��� f (0) = 0�

�� *� ��	������� ��� ��� 
%�� m ∈ R ��#���.

∫ x+m

x

f (t) dt = mf (x) +
∫ m

0

f (t) dt

$� *� ��	������� ��� � f ����� �����!����
��

2� *� ��	������� ��� ��#��� f ′ (x) = f ′ (0)�

8� *� ������ ��� f �

���� �� '(��! f : R → R 
�� �����!����
� ���%����� 
�� y = αx + β �
�3���	
"�� ��� ���3�
�� ��� ���%������ ��	 ��
��	 A (x0, f (x0))� '(��!

g (x) = f (x) − (αx + β)

�� *� ��	������� ��� g (x0) = 0

�� *� ��	������� ��� g′ (x0) = 0

$� �� �����"	� � f ����� �	��&��
	.

��4 >	 ����	��	 ��� ��������� g (x) : (x − x0)
2 ����� <�

��4 >	 ���	 lim
x→x0

g(x)

(x−x0)
2 ��%�#�� 
�� ����� ����
���
�� ����
���

���� �� '(��! S �	 ���	�	 ��!� �!� 
� 
�����
&� 
�����
&� ����
&� z ���
�	�� 	�	�	�� ��#���

−2 < z2006 +
1

z2006
< 2

�� *� ��	������� ��� ��� 
%�� z ∈ S ��#��� Im (z) �= 0�

�� *� ��	������� ��� ��� 
%�� z ∈ S ��#��� |z| = 1

$� *� ��	������� ��� �� z ∈ C 
� |z| = 1 
�� Im (z) �= 0 ���� z ∈ S�

���� �� '(��! f : R → R �"�	�� &��� � ������ y = αx + β� α > 0 �� �����
���
��!�� ��� f ��� x → +∞�

�� *� ��	������� ��� lim
x→+∞ f (x) = +∞�

�� '(��! M (x, f (x)) ��#�� ��
��	 ��� Cf 
�� d (x) � �������� �	� M ���
��� y = αx + β� *� ��	������� ��� lim

x→+∞ d (x) = 0�

$� *� ��	������� ��� � ������ y = α2x+αβ+β ����� ���
��!�� ��� ���%������
f ◦ f ��� x → +∞�
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���������� 	 
����
� ����������	
 ��
��� ����������� �$

���� �� '(��! f : [0, +∞) → (0, +∞) 
�� ����#�� 
�� �����!� ���	���
���%����� 
��

g (x) =
1
x

∫ x

0

f (y)dy

�� *� ��	������� ��� � g ����� �����!����
� 
�� �� ������ ��� g′ (x)�

�� *� ��	������� ��� � g ����� �����!� ���	����

$� *� ��	������� ��� lim
x→0

g (x) = f (0)�

���� �� '(��! � ���%�����

f (x) =
2

1 + x2


�� �	 ��
��� A
(
2, 2

5

)
� B
(− 3

4 , 32
25

)
�

�� *� ������������ ��� �� ��
��� A, B ���
	�� ��� ���3�
� ���%����� ���
f �

�� *� ��	������� ��� � ������ A, B ����� �3���	
"�� ��� Cf �

$� A�� "�� 
�����
� ����
� z ����� ��!��� ��� � ��
��� �	� ��	 
�����
� ������	
���
�� ���� Cf � *� ������ ��� 
�
������ ��
� �	� 
�	��� �� �%��� �	 
"��	
�	� z�

��������� ��*� �� �� (��������	 �+��� ��� z �,��� x �	�� �� �+��� ��� �,��� |z| = r (x) =�
x2 +

�
2

1+x2

�2
��� r′ (x) = 1

r(x)(1+x2)3
x (x − 1) (x + 1)

�
x4 + 4x2 + 7

�
! - ��"��#�� ���� ���

�+���� �,���
√

2!

���� �� '(��! � ���%�����

s(x) = x(x + 1) ln(
x + 1

x
) − x

�� *� ������ �	 ����	 	���
	� ��� s�

�� *� ��	������� ��� �� �	 ��
��	 M (α, β) ���
�� ��� ���3�
� ���%����� ��
s ���� 
�� �	 ��
��	 N (−α − 1,−β + 1) ���
�� ��� ���3�
� ���%�����
��� s�

$� *� ��	������� ��� � ������ y = 1 ����� 	��/����� ���
��!�� ��� s�

���� �� �� '(��! f : R → R 
�� ����#�� ���%������ *� ��	������� ���
��� α �= 0 ��#���. ∫ α

1

f (x)
x

dx =
∫ 1

1
α

f
(

1
x

)
x

dx

�� *� ��	�	������ �� 	�	
���!
���

��4 
∫ α

1
α

(ln x)2

x dx�

��4 
∫ α

1
α

(lnx)2

x(1+xn)dx�

�������� 	��
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����
���� ����
�������
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�2 ����������	
 ��
��� ����������� ���������� 	 
����
�

���� �� '(��! � ���%����� f (x) = x3−2x2−x+1
x2−3x+2 �

�� *� ��	������� ��� ��� 
%�� x ∈ Df ��#��� f (x) = x + 1 + 1
x−1 − 1

x−2 �

�� *� ��	������� ��� ��� 
%�� x ∈ Df ��#��� f ′ (x) = 1 − 1
(x−1)2

+ 1
(x−2)2

�

$� *� ��	������� ��� ��	 ��%���
� (2, +∞) � f ����� �����!� ���	����

2� *� ��	�	������ �	
∫ 4

3
f (x) dx�

8� *� ������ �	 ����	 	���
	� ��� ���%������ (x) =
∫ x

1
x

f (t) dt�

��������� ��*� 9
2 + ln 3 − 2 ln 2 �.*� (−∞, 0)

���� �	 '(��! � ���%����� f : [0, +∞) → R 
� f (x) = 1 − e−x2
�

�� *� ��	������� ��� � f ����� �����!� 
	���	�� 
�� �� ������ �	 ���	�	 ��
&�
����

�� *� ������ ��� �������	3� f−1 ��� f �

$� '(��!

g (x) =
∫ x

0

f (t) dt +
∫ f(x)

0

f−1 (t) dt − xf (x)

*� ��	������� ��� � g (x) = 0 ��� 
%�� x > 0�

���� �
 �� A�� ��� ��%3	��� ��
"� �	� t �� ������ �	 ���	

lim
x→+∞

(√
tx2 + 2x + 1 −

√
x2 + 1

)

�� *� 
��������� !� ��	� �� ���"#��� �� ���%�����

f (t) = lim
x→+∞

( √
tx2 + 2x + 1 −√

x2 + 1
1 +

∣∣√tx2 + 2x + 1 −√
x2 + 1

∣∣
)
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